41502_CES BEFHWEE RN , BEATZEXREFRS , CH | REEE

7= miiEA

M
TEW,

g -
LWL MITELE (HRC 55 +2),

BR:
MEEELATEE 4R, ERE® LT NEET AL E 7T AF
RETER , LEBRENRESRE,

BRSE :

AFESE 41510, 41510-10 1 41510-20 R R IPHNREREN R
RKEREZFHFBIEHIE,

A :

REMENHXZBERFFENEEFMEMIRESH L, ITREER
1#, BYARTRANEE, AEBARETHNBRARE D, THN
EREEFMTRITEERESRFRIITHIRANKE, XBK
BAILE T THEMT,

=N
ALAERAXESHANEEFTNENZERRIREEEHRNMLE,

HESEE -
ES BFEMEEF M,
E E 1R,
ij*gﬁﬂo

©

B
B1

R o e
JK

L1

H1

H2

B=50/72 B=100
BN B2
| |
e—~-03 T
D D1
MRS RS
41502-0503023 50 C |30 50 |[25| 2 30 - 12,5 2 M5 M6 M10x30 5
41502-0503053 50 C |30 50 |[25| 2 30 - 12,5 5 M5 M6 M10x30 5
41502-0724023 72 C |40 72 |40| 2 44 - 21,5 2 M6 M6 M14x1,5x50 8

© norelem www.norelem.com




41502_CES BEFHWEE RN , BEATZEXREFRS , CH | REEE

EM

41502-0724053 , M14x1,5x50
41502-1004423 100 C |44 100 2 64 26| 22 2 M8 M8 M14x1,5x50 10
41502-1004453 100 C |44 100 43 2 64 26| 22 5 M8 M8 M14x1,5x50 10

© norelem www.norelem.com



